Practicing Cross Multiplying Name

Solve the following Proportions by Cross Multiplying

10 2 254 16.51
128 x 21 X

7 8 x 48
% x 7 125 15

Solve the Following by Setting up Equivalent Ratios and Cross Multiplying.
5. The ratio children to adults at a party was 14 : 4. If there were 35 children at the party, how
many adults attended?
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Solve the Following by Setting up Equivalent Ratios and Cross Multiplying.
5. The ratio children to adults at a party was 14 : 4. If there were 35 children at the party, how
many adults attended?
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